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8> + 89x% + 172x— 224 =0

X =12 +41x—30=0

X +9¢° +18x =0

CH+5¢ —6x=0

6 — 37x% — 181x+ 252 =0

X + 8" —39x—270 = 0

C+T¢+12x=0

X —6x>—19x+24=0

X4+ 172 +92x+160=0

9> + 109x° + 220x — 288 = 0
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8x° + 89x% + 172x— 224 =0

x:

,~4,—8

X =12 +41x—30=0
x=6,1,5

X +9¢° +18x =0
x=-3,-6,0

CH+5¢ —6x=0
x=-6,1,0

6x° — 37> — 181x+ 252 =0
,—4,9

AN

x:

X + 8" —39x—270 = 0
x=-9,-5.6

C+T¢+12x=0
x=-3,-4,0

X —6x>—19x+24=0
x=8,-3,1

X4+ 172 +92x+160=0
x=—5,—4,-8

9> + 109x2 + 220x — 288 = 0
8

x=-,-9,—4
9
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